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On-site installation, High automation, simple
commissioning and training operation and labor saving

High automation, simple Life long technical
operation and labor saving service support

SERVICE



— PACKAGING SHIPPING —

Ex-work, FCA, FOB, CNF, CIF [J0 00 DHL, UPS, FedEx, TNT, EMS [J0] 0000 0000 000 00 000 0000 000 0 o0
0.

0000 0o
Q1. 000 0ooooao?
A1: 0000, 000 000 000 0o 0 00 000 00 0000 booood.

Q2.000 000 Ooooag?
A2: 100 0000 QC 00 00 00o 000 0o0o 0o 0o oo, 0o 0o 0 000 booo 0oo 0ot booooo.

Q3.000 0ooog?
A3: [I0 000000 00 000 0o 000 0o 0oo 0oooo.

Q4.000 000 Ooo?
A4 00 0000 00000 00 0ooo 000 0o 0o, 0o, 0o 0o 0o O 000 cooooo. boooo.

Q5.000 000? 0o 00 0 0oo?

A5: 1! 10 000 0000 000 00000 0oo0-




Q6. 00 000 0 oooo?
A6: [1, 00 000 00 000 000 000 0oooo.



